REVIEW B

Find the value of each of the following:

1.
2.
3.
4

5.

(a) (b) (c)
786 + 47 215 + 85 109 + 314 + 56
563 — 58 400 — 299 610 — 483
6 x4 10 x5 3x8
16 = 4 18+ 2 90 ~ 10

John is 132 cm tdll.
Peter is 119 cm tall.
How much taller is John than Peter?

Juan had $800.
After buying a television set, he had $398 left.
What was the cost of the television set!?

Jordan saves $3 a week.
How much money does he save in 5 weeks!?

Mrs. Gray walked from her house to the bank and
then to the market.

How far did she walk?

John bought a packet of nuts for $2.45.
He gave the cashier $5.
How much change did he receive!?

58



